Order of Operations - 6 - Quiz A

White FERIVEED = Correct Answer: ABCD
Explanation:
Calculate 15—3x2 ] e
24 9
27 T S [
(TIReseMaths) Correct Answer: ABCD
Hassan has 7 bags with 3 sweets in each. EXpIanation:
He adds 2 more to each bag.
WhICh calCL”atlon Shows the CorreCt Worklng OUt? --------------------------------------------------------------------------
7(3+2)=35 ‘ 7x3+2=23
7%x3+2=35 L L [
(T ReseMaths = Correct Answer: ABCD
) o Explanation:
Which calculation is equal to 42?
48 a el B I
3)84+2x1 4)6(49+7)
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White FERIND B Correct Answer: ABCD

Explanation:
Calculate18 =3 x2+4 | essssssasasasaaaaaaasasassssssssssssarararanrrEEEE AR R R R R R R R R R R Ry
. | R
% 10|
White FERNEED Correct Answer: ABCD
Which number is needed to make both calculations equal to 84? EXpIanation:
82 + 16 + e N N NN TN
18x_ +12
, W e,
3 L 1
(IIERoseMaths) = Correct Answer: ABCD
Explanation:
Calculate 60—42+6 | esessssssasssssaaaaaaaaassssssssssssssasasaasaaaaaaaaaass s nnnnnnnnn
i S
. R SR
(IESRoseMaths B Correct Answer: ABCD
Explanation:

Which of the following does not give an answer of 27?

3+4Xx6 20+14+2 36+18 +2 48-3Xx7
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(IEReseMaths) B Correct Answer: ABCD

Tom has 11 boxes with 4 packs of paper in each. Explanation .
He takes 1 pack from each bag.
Which calculation shows the correct working out?

11x4-1=43 11x4-1=33

Band D B e

(TIReseMaths) Correct Answer: ABCD
Explanation:
Calculate 27—1149 | e
47 25 -7 7
White BRI B Correct Answer: ABCD
Which of the answers shows the function machine as a Explanation :
written calculation?
Inzut %7 : 10 > . 2> Oultgut
6x7-10+2 (EXT=10)2Z | i iieiereressereraeneresaeeererateseinesaterassetararestararaeseranas
6Xx7-(10+2) 6x(7-10+2)
White FERIVEED = Correct Answer: ABCD
Add brackets to this calculation to make it equal to 5. Explanatlon :
22-10+8+4 | aassssassssssassarssssssassessrassrssEssEr R EE R EE R R R R ARy
o105+ Ga-10-sed4 | e
e t0r et S
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